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Instructions for the candidates :-

1. olereff OMR SR U5d WR JAUAT U YREIHT HHid (10 APl B1) e
fored |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIeefT JATHIE 370 Tl H &l IR S |
Candidates are required to give answers in their own words as far
as practicable.

3. <R el wRE W RY gy sie e Ffde axd §
Figures in the right hand margin indicate full marks.

4. Uel Bl SMYad UgH B foly WRieeRi &I 15 e &1 srfaRed wHy
&= T 2 |



15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U YRaPT 31 WSl H B, Gue—3 Ud Hus—q |
This Question Booklet is divided into two sections: Section-A and

Section-B.
Gus—3 H 100 IS Uy §, FoFH 9§ gl 50 UeAl BT IR <Al
el 21 udd uvH & w1 sie fuiRa 21 50 9 e gl &

IR a7 WR Y2H 50 IR DI & G-I HRYSR §RT AT ST | FE

IR U BRI T OMR SR 93 ¥ ol T fdbey &1 et / BTl

dfe U9 | UTE o | fhdl o YR & geR /Rl Uard /=fs / ArEd

e BT ITR—YRTBT H YANT PRAT FA1 2, 3T Wl YR
BT |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. Each Question carries 1
mark. First 50 answers will be evaluated by the computer in case
more than 50 questions are answered. For answering these
darken the circle with blue/black ball pen against the correct option
on OMR Answer Sheet provided to you. Do not use
Whitener/liquid/blade/nail etc. on OMR-Sheet, otherwise the result

will be treated invalid.

Yue—q H 30 TSN U 8, forH A fbgl 15 Ul BT SR Al

afard 21 e usa & forw 2 o fuiRa &1 g9 aifaRed, 59 wvs



g 4 S g oy W 2, 9 9 a4 ueAl &1 SR IAT R
JJP U9 & oIV 5 3 [HuiRa 2|

In Section-B, there are 30 Short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks, Apart from these, there are 8 Long Answer type
questions, out of which any 4 questions are to be answered. Each

question carries 5 marks.

8. ¥l UBR & Seldi-h SUBRT BT SKIATA Yuidal dreid ¢ |

Use of any electronic appliances is strictly prohibited.

Section - A (Objective Type Questions
Gug—3 (q&IfIss y¥)
U9 G&IT 1 W 100 db P Uhd U & I IR dbey feu v & =8 9

U el 2 | {8l 50 Ul &1 IR 37U+ §RT g1 T Wel fdbey Bl OMR—Ne R

fafted &Y | U¥® U9 & forv 1 3fe RuiRa 2| 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is

correct. Answer any 50 questions. You have to mark your selected option on

the OMR-Sheet. Each question carries 1 (one) mark. 50x 1 =50
1. SYHIGAT FIER BT T 7

(A) I8 B ITAIRTEr A (B) g% @I |1 |

(C) a¥g & Icura o (D) (A) 3R (B) T &

Consumer behaviour relates to :-

(A) Utility of a commodity (B) Demand of commaodity



(C) Production of commodity (D) Both (A) and (B)
ST 61 ToETErad e = § 9 fea wga fear ?

KNGS (B) I,

(C) feaw (D) Sgarea
Who propounded the cardinal concept of utility ?
(A) Marshall (B) Pigou

(C) Hicks (D) Samuelson

I dh bl AT §di o e FHr quifar © ?

(A) STEA I (B) SUTGH F¥T1aT dh

(C) ISTHIACT ash (D) | Ik

Mention the name of the curve which shows economic problem ?
(A) Production curve (B) Production possibility curve

(C) Indifference curve (D) Demand curve

Ffte e & sriia o= # fhdaT sreays fehar Srar g 2

(A) ST Ta SH1E (B) anf¥as

(C) T 31 (D) 3% ¥ B &
Which of the following is studied under Micro Economics ?
(A) Individual Unit (B) Economic Aggregate
(C) National Income (D) None of these

“3efes &9 &1 fagme 2 fhas der 8§ ?
(A) B (B) . &1 &
(C) TsH ey (D) 9,



Who has said “Economics is the science of wealth.”

(A) Canon (B) J. B. Say

(C) Adam Smith (D) Pigou

UT gV 1T U G¥N & dael YANT T Sidl &, $eal © -

(A) e axgY (B) wfcrermu=T aegy
(C) RIS U (D) 31H & P =l

Goods, which can alteratively be used, are called :
(A) Complementary Goods (B) Substitute Goods

(C) Comfort Goods (D) None of these

IAET & A HAEEl H UP B Fguid H gig & URUHERY e H
31 rgurd H gfg skl 8, 39 H8d © ¢

(A) Rer U9 &1 Ufdher (B) BRI YA &1 Ufdha

(C) gfgm 4= &1 ufahe (D) 31H & PIg =l

If all the factors of production are increased by same proportion and as
a result output increases by a greater proportion then, it is called :-

(A) A constant returns to scale (B) Decreasing returns to scale

(C) Increasing returns to scale (D) None of these

MY AT AT fhd T2F & TR § 7

(A) ISR =T bl (B) Ry g=ma @

(C) ®H & =TT o (D) Swiaa @l
Economic problem is basically related to which factor ?

(A) Selection of Market (B) Choice only



10.

11.

12.

(C) Firm’s Selection (D) All of these

/1 4 19 IS B d © ?

(A) C =f(Q) (B) Q = f(C)
(C)Q=A(P) (D) sTH & ®Ig el
Which of the following is production function ?

(A) C =f(Q) (B) Q= f(C)

(C)Q = f(P) (D) None of these

ART @1 @A™ BT YAIfad R dTel TCdh DI 9 § 2

(A) a%] @1 ufa (B) BT wR

(C) 3 R (D) 37 & g &I
Which of the following factor affects elasticity of demand ?
(A) Nature of goods (B) Price Level

(C) Income Level (D) None of these

A4RT H Bl & FEforiad § Sl —d BRUT § ?

(A) 3 3 Al (B) shariatl @1 |W&am H Bl
(B) STHTaT &) ®f § BH (D) SwiT a0

Which of the following is a reason for fall in demand ?

(A) Fall in income (B) Fall in number of buyers
(C) Fall in taste of consumer (D) All of the above

MR AJAT BT 3Fef Bl ©

(A) §oll & o—< 9 (B) axgell & amara v fafd @

(C) g Sfde Torm gl dfse A (D) Sudad |+l



Balance of Trade means :
(A) Capital Transactions (B) Import and Export of Goods

(C) Total Debit & Total Credit (D) All of the above

13.

14.

15.

f=ferRad & & w9 AT T8 2 ?
(A)Y =C +| (B)Y=0=N
(C)C+S=C+] (D) A wf

Which of the following is correct ?

(A)Y=C +| (B)Y=0=N
(C)C+S=C+lI (D) All of these
RSTd o it SfUSAT &1 WIUAT 83 -

(A) 1947 H (B) 1935 #

(C) 1937 ® (D) 1945 H

Reserve Bank of India was established in :

(A) 1947 (B) 1935

(C) 1937 (D) 1945

urrfAe &3 | Aftaferd gidm @

(A) T (B) GexT @R
(C) o e (D) &4 & el
Primary sector includes :

(A) Agriculture (B) Retail Trading

(C) Small Industries (D) All of these



16.

17.

18.

ITE BT FhId I B -

(A) gt (B) 5

(C) ¥ (D) 377 & PIg el
An active factor of production is:

(A) Capital (B) Labour

(C) Land (D) None of these
A AT BT AT B

(A) sefegaRerr # ISR & [@aR (B) agell @ gfd a4 &

(C) Thex ® | @1 A BT (D) 99IR ¥ 5 B HIHd BT
Macro Economics studies :-

(A) Employment opportunity in Economy

(B) Law of supply of commodities

(C) Elasticity of demand in scooter

(D) Price of wheat in market

Ired H ghg & AII—AT B AN Ud del URa<ITRIe NI ¥ 37}
(A) Tredr ST ® (B) Sgdr ST ®

(C) RerR <& ® (D) 57 & ®1g &

With the increase in output, the difference between total cost and total
variable cost :

(A) Decreases (B) Increases

(C) Remains Constant (D) None of these



19.

20.

21.

22.

TR ST JoTrell &1 FRefd HiF § 2
(A) JMR.EN3TE. (B) va.dlame.
(C) g Erars. (D) T &g ¥

Who is custodian of Indian Banking System ?

(A) RBI (B) SBI

(C) UTI (D) LIC

JUAT 7

(A) ST # gfg (B) Suaifiram # 9 9fg 7 &=
(C) SuAfirar & &g (D) 37 | BIg 2

Consumption is :
(A) Increase in utility

(B) Neither increase nor destruction in utility

(C) Destruction of utility (B) None of these
Jued b 3T sfvsar w=T 8 ?

(A) RS I (B) =g o

(C) ol da (D) &7 & BIg el

What is Central Bank of India ?
(A) Commercial Bank (B) Central Bank
(C) Private Bank (D) None of these

foa Al 9 89 § 9 Fdhg brd @ad & ?

(A) 3TE0T I (B) T®

(C) T, (D) 377 & Wiy



By Which method can we withdraw cash from Bank?
(A) Withdrawal Form (B) Cheque

(C) ATM (D) All of these

goic 71 § | 39 A1 =k © 7

(A) <ifest (B) ST+

(C) == (D) ¥ ¥ Prg T
Which of the following word is Budget?

(A) Latin (B) German

(C) French (D) None of these

ON ON (N o

b db f=fofRaa o fade gRT g o) 9137 IR 9407 X@dar g ?

(A) §& < (B) Gel aoIR &1 fohamd

(C) e BIY 3rgurd H gRa<i (D) Sudar a1

By which method Central Bank adopts for controlling the quantity of
credit?

(A) Bank Rate

(B) Open market operation

(C) Change in Cash Reserve Ratio

(D) All of the above

3159y Hal H fr=aferRad o T Aftafera fam <mar & 2

(A) sfep (B) TTEToRF
(C) =T (D) 57 & 1S T

10



26.

27.

28.

Which one is included in the invisible item?
(A) Banking (B) Shipping

(C) Communication (D) None of these

D & Ffawe H gA ART BT qeT bl EfIRIT H fBH AW A YBrR]

ST g ?
(A) qo SRR el (B) 31Ul ISR Hlet
(C) THI (A) 3R 4. (D)3 4 PIg A=l

Which of the following is known as the state of deficient demand in
Keynesian economy?

(A) Full Employment Equilibrium

(B) Incomplete Employment Equilibrium.
(C) Both (A) and (B)

(D) None of these

afe MPC = 0.5l uis (K) 8 -

(A) V2 (B)O
(C)1 (D) 2
If MPC = 0.5, then Multiplier (K) will be :
(A) V2 (B)O
(C)1 (D) 2
GNP 3/@q@iad F1 & 7

(A) GNP sraefias = T2 210 %100

(B) GNP smwefis = Tooee SNP 00

11



29.

30.

_ grdfd®d GNP
(C) GNP 31q&hide = TP GNP
(D) 37 ¥ @IS T

What is GNP Deflator

Nominal GNP
Real GNP

(A) GNP Deflator = x100

Real GNP
Nominal GNP

(B) GNP Deflator = x100

Real GNP
Nominal GNP

(C) GNP Deflator =

(D) None of these

JITER AT T & 2

(A) T8 fdmed e URIRT &R f&ar 1

(B) @A gaAT 37w

(C) XIarvT A

(D) 7 & |

What is opportunity cost ?

(A) The alternative foregone (B) The lost opportunity

(C) Transferred Earning (D) All of these

9 fIf~™a yorelt @ smaeasd et B W T ?

(A) Tazaharsll & WG BT (B) faa fafera e
(C) anfdfes wu 1 s TS (D) SwRiad a1
What are the necessary conditions of Barter system ?
(A) Limited Needs

(B) Limited Exchange Area

12



31.

32.

33.

34.

(C) Economically backward society

(D) All the above

|ATUE AR AT DI ad Rl © ¢

AQ _ AP AP _ AQ
A5 >7 B)7 >3
©)F=% (D) 5 & 71§

AQ _ AP AP _ AQ
(A) 27 (B) > °
(C) A?P = %Q (D) None of these

fererforRaa & @ fde uRa< & &7 & uRads =&l grar ?
(A) gt | gReiA (B) 3ma # uRa<H

(C) wfa T wed # uRaciA (D) 379 A PIg Bl
For a change in which of the following, there is no change in demand ?
(A) Change in Prices (B) Change in Income

(C) Change in taste and fashion (D) None of these
I Sl & IUART DI T HEd & ?

(A) Ton Faror (B) TeueTd

(C) ferarer (D) 377 & @it
What is consumption of fixed capital called?

(A) Capital Formation (B) Depreciation
(C) Investment (D) All of these

IhIT JATE & i referaiRad § I AT § 2

13



35.

36.

(A) aIfad yaTe (B) #Hifg® yarg

(C) (A) 3R (B) I (D) g4 ¥ &g el
Which one of the following is included in circular flow ?
(A) Real Flow (B) Monetary Flow
(C) Both (A) and (B) (D) None of these

Ol UH. I Bl URNE G T OFRd AR fhd 9 ySIRi g off ?

(A) 1926 (B)1936

(C) 1946 (D) 1956

The famous book-"The General Theory’ of J.M. Keynes was published
in which year ?

(A) 1926 (B)1936

(C) 1946 (D) 1956

SUARTAr & /4 § oI 1 faewar g ?

(A) STIINTAT Yo AAIISTh gROT 7 |

(B) SuAIfirar afdqura il 2 |

(C) SyAIfRTar &1 faar A g |
(D) S | |

Which of the following is characteristic of utility ?
(A) Utility is a psychological phenomenon

(B) Utility is subjective.

(C) Utility is a relative concept.

(D) All of the above.

14



37. = § Qo9 91 gy 98 8 °?

5 1
(A) EH=T A = i 3T (eT)

(B) el 3TH = WHI= 31T (eT)

(C) ST (A) 3R .

(D) g %1 g AL

Which of the following relation is correct ?

(A) MR = AR (36%1) (B) TR = MR (e;—l)
(C) Both (A) and (B) (D) None of these

38. T4 gl IUAINICT AfTHaH Bl & a9 A=< SUAIICT -
(A) gFTHS BT B | (B) FvIicAa BI! © |
(C) I =B B (D) 379 | BIg T8 |
When Total utility becomes maximum, Marginal Utility is :
(A) Positive (B) Negative

(C) Zero (D) None of these

39. U®d FASIATS] 3rferavell & Jol Sed &Il § :
(A) M ST (B) anffep it
(C) HATHT HHAT (D) 31ferdaH ol HedroT
The main objective of socialistic economy is :

(A) Maximum Production (B) Economic Freedom

(C) Earning Profit (D) Maximum Public Welfare

15



40.

41.

42.

43.

el Il & foIy DI —41 g9l Fa9 SUYad & 7

(A) =T BT doie (B) wgfer avre

(C) §9d &1 duic (D) S99 & |1

Which of the following budget is suitable for developing economy ?

(A) Deficit Budget (B) Balanced Budget

(C) Surplus Budget (D) All of these

FrafeiRad 5 9 fFds ofaR Bl 9% @1 $I\a AR iR gfd @ wifdaal

gRT g Bl 87 7

(A) ST (B) arers

(C) et (D) 5 & PIg T

Who said, “Price is determined by both Demand and Supply Forces” ?
(A) Jevons (B) Walras

(C) Marshall (D) None of these

IR ) g2 Rufa O/ ad dae vah sar gidar ¢

(A) TR (B) AR

(C) g (D) 57 & B¢
Market situation where there is only one buyer :

(A) Monopoly (B) Monopsony
(C) Duopoly (D) None of these

Tafte 3o & 3= &l Avy § :

(A) I 3T BT g (B) SuHTadT &1 Rigr=d
(C) SWe® &1 Rigr (D) g9 A PIg Bl

16



44.

45.

The subject of the study of Macro Economics is :
(A) The Priniciple of National Income

(B) The Principle of Consumer

(C) The Principle of Producer

(D) None of these

T el feferaeen § qrfged AT & HucH DI 8 ?
(A) STHIT

(B) frraer

(C) SWIRT + WRHRNI Y

(D) SUMIT + aer + RN @ + g FEid

In an open economy, which are the components of aggregate
demand?

(A) Consumption

(B) Investment

(C) Consumption + Govt. Expenditure

(D) Consumption + Investment + Govt. Expenditure + Net Export

ST Held H SdTed fhdAdT Betd & 7

(A) DHT BT (B) SRRl @ ATl &1
(C) 1 =g &l (D) 3TH & PIg =l

In production function, production is a function of :

(A) Price (B) Factors of Production

(C) Total Expenditure (D) None of these

17



46.

47.

48.

49.

M ST WR BT Jegg= fHar Sirar g

(A) &fte srfere #
(C) = (A) 3R (B) #

General Price Level is studied in :

(A) Micro Economics

(C) Both (A) and (B)

QST 9% BIdT © -

(A) Tt favg @F 3R S~Tdlex
(C) (A) 3R (B) i
Indifference curve is :

(A) Convex to the origin
(C) Both (A) and (B)

ot sRrfYaT # B

(A) BHT BT g Bl B
(C) (A) 3R (B) <

In perfect competition, a firm :

(A) Determines price

(C) Both (A) and (B)

(B) wHfte srefeme #
(D) 3% & B e

(B) Macro Economics

(D) None of these

(B) Tt fag @1 SR ararTeirav
(D) Swa a4l

(B) Concave to the origin

(D) All the above false

(B) ®IFd ®I T el B
(D) 3% & B TE

(B) Obtains price

(D) None of these

IRA H G98 goic DI AHETIT Wigfd adl § ¢

(A) 28 BRI Th
(C) 15 A1d T&

(B) 1 wrd d%
(D) 31 91 TH



50.

51.

52.

Indian Parliament generally approves Budget by :

(A) Up to Feb. 28 (B) Upto March 1
(C) Upto March 15 (D) Upto March 31
IR Hod B gR¥Ifa far irar 2

(A) TTDBTAT TSR (B) STeidTel doTR
(G EIGEPEIRIEEEIIN (D) 37 &+

Market Price is defined as :

(A) Short-run Market (B) Long-run Market
(C) Very Long-run Market (D) All of the above
AT &1 A fhds UBR $I 8l § 2

(A)3 (B)5
(C)6 (D)7
How many types of elasticity of demand are ?
(A)3 (B)S
(C)6 (D) 7

ON ON (N

freforlRaa o i—a1 Widh & ?

(A) w=af (B) were

(C) Frafa (D) &7 & BIg el
Which of the following is a stock ?

(A) Wealth (B) Saving

(C) Export (D) None of these

19



53.

54.

55.

56.

TH BH H A BT 8 o9 ¢

(A) AR>AC (B) AR=AC

(C) AC>AR (D) 379 A PIg A7l
A firm earns profit when :

(A) AR>AC (B) AR=AC

(C) AC>AR (D) None of these

arfe @ fawy a¥g &1 eI b emanstt @ rta o ST =T € ?

(A) &fte i (B) wHfte 1efems
(C) (A) 3R (B) gt (D) 5% & PIg e

The subject of matter of Economics is being studied under which

branches ?

(A) Micro Economics (B) Macro Economics
(C) Both (A) and (B) (D) None of these
71 5 BT |El B ?

(A) guicRT AR gid es=00 (B) 31fers @reRR gfd es>1
(C) yuierm detraeR gfd es=0 (D) Sudad |+l

Which of the following is correct ?

(A) Perfectly elastic supply es=00 (B) High elastic supply es>1
(C) Perfectly inelastic supply es=0 (D) All of the above
3fefeaell &l bald HARI ©

(A) T ITEH B ? (B) ¥ ITG BI?

(C) Scurfed a¥xg &1 faaror &4 817 (D) Iuad |+l

20



The central problem of an economy is :
(A) What to produce ?

(B) How to produce ?

(C) How to distribute the produced goods?

(D) All of the above

57.  Ud a%g @ dIa 99 fag W fFeifka gkl g o=t
(A) T DI ART e &
(B) 9% @1 yfef aiferep &1
(C) Iy &I AT 3R o] @1 YfRi a_TaR &

(D) s & B1g e

Price of a commodity is determined at a point where :
(A) Demand exceeds (B) Supply exceeds
(C) Demand equals supply (D) None of these

58. 98 DI—UT 9HY T, OTEH I & §41 AEH 98cl off Fad & °
(A) TeTdTA (B) Srefpran
(C) sifaTeiret (D) @t =it
At which time all the factors of production may be changed :
(A) Short-run (B) Long-run
(C) Very Long run (D) All the these

50. e wamwil R famaril a1 dw@r g &8l © 2

(A) daa gui gferarar 9 (B) Baa1 UHIIHRIHD UfraIfirar #
(C) (A) T (B) =i (D) 5% | BIg e

21



60.

61.

62.

Where there are large number of buyers and sellers ?

(A) Perfect Competition only (B) Monopolistic Competition only

(C) Both (A) and (B) (D) None of these

FRET AN b & Hed fawg UR A Pl Al
(A) I B (S)EsZERER
(C) 3= =l (D) 378 | BIg T3

The elasticity of demand at the midpoint of demand curve of a straight

line demand curve :

(A) Will be 0 (B) Will be unity
(C) Will be infinity (D) None of these
el fafa <= @1 fRgRor gar 2

(A) fac=l B BT J41T g

(B) fa=sit =il &1 giRi gRT

(C) facsh faffwar qroiR # w1 wd gfxf gwo

(D) s & B1g e

Foreign exchange rate is determined by ;

(A) Demand of foreign currency

(B) Supply of Foreign currency

(C) Demand and supply in foreign Exchange market
(D) None of these

Uofl gote enfie &var 2

(A) IS IITSTdl U RToE &g (B) Ysiira wiferdl vd goinTd e

22



63.

64.

65.

(C) yu&l Ud Iucdel Hhv (D) g4 A PIg Bl
Capital Budget includes :

(A) Revenue Receipts and Revenue Expenditure
(B) Capital Receipts and Capital Expenditure

(C) Direct and Indirect Tax

(D) None of these

ISR T[0T FHGT & STHaIdT & :
(A) BT (B) ®re
(C) &= (D) mefer

The Theory of Employment Multiplier was propounded by :

(A) Keynes (B) Kahan

(C) Hansen (D) Marshall
YA WY P TSP ©

(A) =ref, T (B) it wman

(C) (A) 3R (B) <t (D) s ¥ 1g el

The components of Balance of Payment is/are :
(A) Current Account (B) Capital Account

(C) Both (A) and (B) (D) None of these

NNSEINIRRCIS b HHI g

(A) greiffes |TeT — TSl I (B) wreiffiep et + &ATSl Y

(C) B dolc &I — Gl doic Wiadf(D) $79 | dig el

23



66.

67.

68.

Fiscal Deficit equals to :

(A) Primary Deficit — Interest Payments

(B) Primary Deficit + Interest Payements

(C) Total Budget Expenditure — Total Budget Receipts
(D) None of these

= § & & T IR T ?

(A) 3B (B) ¥R @
(C) SUTE Yo (D) SuER ax
Which of the following is Indirect Tax ?

(A) Income Tax (B) Wealth Tax
(C) Excise Duty (D) Gift Tax
AT ST TRy e # W B B 7

A A
(A) 3 (B) 3
(C) T (D) 57 & ®IE A&
Which of the following is Marginal Propensity to consume ?
A A
(A) T (B) 5
AY
(C) i (D) None of these

faer & MaR® gcd T A 8 ?
(A) TS BT A= eHar (B) &S &1 =X
(C) (A) 3R (B) Tl (D) 578 ¥ BIg T8I

24



69.

70.

71.

Which is the determining factor for investment ?

(A) Marginal efficiency of capital (B) Interest Rate

(C) Both (A) and (B) (D) None of these
facel fafra @1 ufshar &l ©

(A) = & A7 (B) /=i & Ay
(C) =91 @& R (D) wroat & Hiax

The process of Foreign Exchange occurs :-

(A) Between the countries (B) Between the states
(C) Within the country (D) Within the states
feTRYaT awgeil &1 AT Bl & -

(A) IR (B) drerR

(C) aafd® AEeR (D) qofaar dar=eR

For luxury goods the demand is :

(A) Inelastic (B) Elastic

(C) Highly elastic (D) Perfectly inelastic
T % B9 Boarordry el g § ?

(A) Tt (B) &1
C). & 9 (D) Iy
Who does not belong to welfare Economist ?
(A) Marshall (B) Canon

(C) J. B. Say (D) Pigou
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72.

73.

74.

75.

BTl I Bed B T 7 —

(A) |1 & 9 9 (B) Sy gfg From <

(C) b= & ufawdt 9 4 (D) |11 @1 g |

Long run production function is related to :

(A) Law of Demand (B) Law of Increasing Return

(C) Law of Returns to Scale (D) Elasticity of Demand
STATRIAT BT A9 BT ST Fhahl © -

(A) 9T & §IRT (B) a¥gaii & fafa grr
(C) a3l & aoiv gIRT (D) 37H & BIg =l
Utility can be measured by :

(A) Money (B) Exchange of Goods
(C) Weight of the Goods (D) None of these

gRa<ielel IgUTal &1 M Fwfd 2

(A) TTBTA A (B) JrcudTel TG STEdlel aFl o
(C) dreepret & (D) srfrdieimrer

Law of variable Proportion is related to :

(A) Short-run (B) Both short-run and Long run
(C) Long-run (D) Very Long-run

JATEH A dI Fforiad § al= A1 Al € 2

(A) BAINTH TG hol oFTa A (B) ™= 3MTH Ud HHd oTd Nfd

(C) (A) 3R (B) gt (D) 5% | PIs =&
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76.

77.

78.

Which of the following is a method of Producer’s Equilibrium ?
(A) TR and TC Method (B) MR and MC Method
(C) Both (A) and (B) (D) None of these
fF=feRaa 5 & 9 SART &1 ARE T8 § 2

(A) I (B) =4

(C) ot (D) a1

Which of the following is not a factor of Production ?
(A) Land (B) Labour

(C) Capital (D) Money

“gfct sroe forg | @ i #R ol B 1 fda e B ?
(A) U0 ST | (B) Repref

(C) w0 dr (D) =

“Supply Creates its own demand”. Who said ?

(A) Prof. J. B. Say (B) Ricardo

(C) Prof. Pigou (D) Keynes

BH & e § g 89 W dg BT A

(A) ga<t & (B) Tl ®

(C) Rer <&t ? (D) 37 | BIg FEI
With the rise in coffee price the demand of tea :

(A) Rises (B) Falls

(C) Remains stable (D) None of these
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79. = % & FaR 98 © 7
(A) TVC=TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D)TC=TVCxTFC
Which of the following equation is true ?
(A) TVC=TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC x TFC
80. dNIR ¥ HfRId BIaT § :

(A) 31 STeadTAT oI (B) 9T I |

(C) womdit [eu & (D) 54 & Wl

Market price is associated with :

(A) The Price of very short Period (B) Normal Price

(C) Permanent Price (D) All of these
81.  qul yferafiar 4 :

(A) AR = MR (B) AR > MR

(C) AR <MR (D) =74 & BIs &I

In perfect competition :

(A) AR =MR (B) AR> MR

(C) AR < MR (D) None of these
82. G8 dH Sl 3MYP FHRIT T ©

(A) STEH I (B) SUTEH F¥IT1aT dh

(C) /i1 asp (D) ST 9%
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83.

84.

85.

The Curve that shows economic problem :
(A) Production curve (B) Production Possibility curve

(C) Demand curve (D) Indifference curve

I ey | fferRaa # few waftafea foear wiar € 2

(A) T, A9IGY, STl (B) I, #STGX, Id=, &Tol, oY

(C) T, #oIgxl, dad (D) T, T, &Il
Which one is included in National Income ?

(A) Rent, Wage, Interest

(B) Rent, Wage, Salary, Interest, Profit

(C) Rent, Wage, Salary

(D) Rent, Profit, Interest

UdTg b 3ITd fferRad § I ImfieT © ?

(A) STAIT (B) fryaer

(C) s (D) Sudad Y
Which one of the following is included in flow ?

(A) Consumption (B) Investment

(C) Income (D) All of the above

Aifad orTd # FeferRad # fod wnfie far smar © 2
(A) AT =T (B) @& AT
(C) e orTd (D) S |+l
Which of the following is included in Monetary cost ?

(A) Normal Profit (B) Explicit cost
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86.

87.

88.

89.

(C) Implicit cost (D) All of the above
3 AR Hola: fhd qe @ IAT © 2

(A) g B (B) SUHTEIT g &l

(C) &4 =1 &l (D) =74 & BIg &I
Economic problem is basically related to which factor ?

(A) Choice (B) Consumer’s Selection

(C) Firm’s Selection (D) None of these

qEIfde FaTg & a1 H P9 wfAeT § 2

(A) TXGAT BT gaTe (B) @il &1 yars
(C) (A) &R (B) T (D) &% & BIg T
Which of the following is included in Real Flow ?

(A) Flow of Goods (B) Flow of Services
(C) Both (A) and (B) (D) None of these

gft & fem @1 fEfoRad # eb—a1 wae uelRia oxar g 2

(A) S =f(P) (B) S = f(-)
(C)S=f(Q) (D) T & Prg i
Which of the following function shows the Law of supply ?
(A) S =f(P) (B) S = f(-)

(C)S =1(Q) (D) None of these

MPC &1 519 &7 & ?
(A) 1 (B) 0

(C)o 9 aifde fbwg 1 A HH (D) 3=
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90.

91.

92.

What is the Value of MPC ?
(A)1 (B)O

(C) Greater than o but less than 1 (D) Infinite

SUIIRTAT T IO arerd (g 71 3 e gqa o ?

(A) feaa (B) 4,

(C) Wt (D) rgere
Who gave the cardinal concept of utility ?

(A) Hicks (B) Pigou

(C) Marshall (D) Samuelson

¥4 faeeg g 99 U= Ba1 & o9 -

(A) TR>TC (B) MR>MC
(C)TR=TC (D) (A) 3R (B) =i
Break-Even Point is generated when :-

(A) TR>TC (B) MR>MC
(C)TR=TC (D) Both (A) and (B)
TR BT UM e ot 3 39 4|1 g ?

(A) AT &1 A (B) = SuAifreT g |

(C) I9—dmHr Sudifrar = (D) SUHTGT &I g9
Which is the first Law of Gossen ?

(A) Law of Demand

(B) Law of Diminishing marginal Utility

(C) Law of Equi-Marginal Utility
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93.

94.

95.

96.

(D) Consumer’s surplus

A A ITAIRAT R & IR ST & el @l ¥ ©

(A) A= B) 3t =
(C) (A) 3R (B) T (D) gR9IRYT =&

According to the Law of Equi-Marginal Utility the condition for

consumer’s equilibrium is :

MU, _ MUg MUy _ Py
(A) P, Py ( )MUB_E
(C) Both (A) and (B) (D) Undefined

ERERC S NI PNITC GRS ECR CRIG I

(A) it (B) Jtfa=w

(C) T (D) 917,

According to whom Economics is a positive science ?
(A) Marshall (B) Robbins

(C) Canon (D) Pigou

freforfRad & & Rer arTg 81 2 2

(A) 1 difss (B) =T

(C) ®ea ATl &l AT (D) hae? BT foxm
Which of the following is not Fixed cost ?

(A) Insurance Premium (B) Interest

(C) Cost of Raw Materials (D) Factory Rent
el & b= A Fderrarel gl @1 & a8l ©

(A) 3FTE & BH (B) go1g ¥ aiferep
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97.

98.

99.

(C) P18 & ISR (D) I & RIR

The elasticity of a straight line supply curve originated from the centre

of origin is :

(A) Less than Unity (B) More than Unity
(C) Equal to Unity (D) Equal to Zero

ISR RIS CH CHER I

(A) Facr gof yfernfirar (B) Sact qof SR
(C) (A) 3R (B) I (D) g4 ¥ &g el

Homogeneous Product is a characteristic of :

(A) Only perfect competition (B) Only perfect Oligopoly

(C) Both (A) and (B) (D) None of these

S BT 2 THIS N R Hl UG 22 B AR 1 IS M R I8 10 & I

G ST BT
(A) 10 (B) 12
(C) 14 (D) 16

If total product at 2 units of labour employed is 22 and total Product at
1 unitis 10, then MP will be :

(A) 10 (B) 12

(C) 14 (D) 16

I DI BR 3Tl Shls & YAN | HHA IUIIACT -

(A) gedt 8 (B) we<il ©

(C) wH1 &chl @ (D) I & Sl
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Consumption of every additional unit of a commodity brings utility :
(A) Decreasing (B) Increasing

(C) Remains constant (D) Zero

100. YRd H TP HYIT BT AIC DI SINI BT & 2

(A) TR Rord d@ (B) YRd &R HT foad AT
(C) T & g (D) 3% & BIg el

In India one Rupee note is issued by :

(A) Reserve Bank of India

(B) Finance Ministry of Govt. of India

(C) SBI

(D) None of these

Huvs—9 / Section-B

oY I8 939 / Short Answer Type Questions

U AT 1 ¥ 30 0P oY SR © | 39 ¥ el 15 U¥Hl & IR < | ISP U
& farg 2 ofd FuiRa &) (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1, e refees @ faRivarg qarsy |

Mention the characteristics of Micro Economics.

2. SqTe gR{TIT dh FIT & ?

What is production possibility curve ?
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10.

11.

12.

SErAar "SR/ ' P
What is indifference map ?
30T 3R AT # IR W PN |

Distinguish between Desire and Demand.

I TReTar ITguTd 9T 7 ?

What is Statutory Liquidity Ratio ?

AT B BT Are bl GATAT B dlel IR dedl bl AlRay |

Write any four factors affecting the Price Elasticity of Demand.

Ife A IUERT Ygfa g WA 99d Ygfd aRIeR 8 Al I[OTd BT A
ERIERNY

If MPC and MPS are equal, calculate the value of Multiplier.

ThIfdes TARTAT I URYTHT ST |

Defien Inflationary Gap.

Aifaw Aifq @1 8 ?
What is Monetary Policy ?
e @ goic I 77 MR § 7

What is meant by Deficit Budget ?

TR g T gfRemar < |

Define Revenue Expenditure.
faeeh fafa @t emgfki @ <1 A Idarsy |

State two sources of supply of foreign exchange.
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13.

14,

15.

16.

17.

18.

19.

20.

21.

22.

23.

I e o 7 Ay g 2

What is meant by Balance of Payment ?

DI ¥ <l Al AR AY DI FeiRa o=d & ?

Which two transactions determine Balance of Trade ?
DHISC BIS FAT 7 ?

What is Credit Card ?

arefereRer § WRg AT B HRaT B °?

Who creates credit in the economy ?

T & Bls &l B gdrgy |

State any two functions of money.

Jhel IR IATE BT T DA DY Sl & 2

How GNP is calculated ?

Aol oM e afaard o 4 3R o |

Distinguish between private income and personal income.
U Y srefedeen & ARI &=l 1 T ford |

Write the names of four sectors of a modern economy.
qof NPT ¥ @ @i FEiRd e @ ?

Who determines price under Perfect competition ?
A S B iR wEf gar 2 ?

Where is Equilibrium price determined ?

f 9Tk # AR = MR 8refT & ?

In which market does the condition AR = MR prevail ?
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24,

25.

26.

27.

28.

29.

30.

R @i B IR B aTel TR Hedt Bl NRaT |

Mention the four factors which influence the elasticity of supply

gl g & ST IR Rad BT Yh HROT Gy |

Give one reason for rightward shift in supply curve.

qui ST & ded A JNTH IR W 3T @1 AThfd Dl gl
27?

What type of shapes do AR and MR curves under Perfect
Competition ?

aRaciele T @1 aR¥mT R |

Define Variable Cost.

3BT AT dp U—a3Tapfcr &1 @l 8iar & ?
Why is Short-run cost curve U-shaped ?
@l AN Bl TUET DA BT 7 2

How is total cost calculated ?

AT b BT AT IR RIAh=T 1 <2idr § 2

What shows the movement of demand curve towards right.

" 9a9F 937 (Long Answer Type Questions)

U9 GIT 31 O 38 b S1d STNIY U 2 | 599 9 fhl 4 Ul & SR < | ISP

ye & forg 5 o FeiRa §) (4x5=20)

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)
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31.

32.

33.

34.

35.

36.

37.

38.

AS bl & [AbTardd SRl B =@l B |

Discuss the developmental functions of commercial banks.

“god Td e § W UHwudl UTs Sl 8§99 B Bl AT D
AT DIV |

“Obvious uniformity exists between saving and investment”.
Examine the statement critically.

"I T AT A=t & 1”7 b ?

“Economics is a Normative Science”. How?

UdeT B U 3TITE B H <R DI |

Distinguish between Direct Tax and Indirect Tax.

I 3 ¥ 31T AT FHSIA & ¢ I8 Dy ATl Sl & 2

What do you mean by National Income ? How is it measured ?
ST I B W BRI A RS FRT |

Discuss the main functions of Central Bank.

TfE @) FErar | AT SR B8 e @ @t S |
Explain the law of diminishing marginal utility with the help of a
diagram.

AR BT HEd o & AfI~ YbR &7 8 ?

What are the different types of price Elasticity of Demand ?

38



